On certain infinite products III

bу

Masao Toyoizumi (Kawagoe)

1. Introduction. Let $\eta(z)$ be the Dedekind eta function defined by

$$\eta(z) = \exp(\pi i z/12) \prod_{n=1}^{\infty} (1 - \exp(2\pi i n z)),$$

where z is the standard variable on the upper half-plane. Then it is famous that

$$\eta(-1/z) = \sqrt{z/i} \, \eta(z).$$

In 1968, Weil [5] obtained a very natural proof of the above formula by using the functional equation for the Riemann zeta function. The author [3] gave a characterization of $\eta(z)$ by developing the ideas of Hecke [1] and Weil [5]. (Along with [5] and [1] see also [2] and [6].) Later, in [4], he determined infinite products satisfying a certain functional equation on the upper half-plane. In the present paper, we will discuss a slight generalization of the previous result given in [4].

Let $a_1(1)$, $a_1(2)$, $a_1(3)$, ... and $a_2(1)$, $a_2(2)$, $a_2(3)$, ... be two sequences of complex numbers such that $a_1(n)$, $a_2(n) = O(n^c)$ for some c > 0, and form

$$\varphi_1(s) = \sum_{n=1}^{\infty} a_1(n) n^{-s}$$
 and $\varphi_2(s) = \sum_{n=1}^{\infty} a_2(n) n^{-s}$.

Then $\varphi_1(s)$ and $\varphi_2(s)$ are convergent Dirichlet series. For any real number λ , we put $q(\lambda) = \exp(2\pi i z/\lambda)$. Further we define, for Im(z) > 0,

(1)
$$f_1(z) = \exp(2\pi i \delta_1 z) \prod_{n=1}^{\infty} (1 - q(\lambda_1)^n)^{\alpha_1(n)}$$

and

(2)
$$f_2(z) = \exp(2\pi i \delta_2 z + B) \prod_{n=1}^{\infty} (1 - q(\lambda_2)^n)^{a_2(n)},$$

where $\lambda_1 > 0$, $\lambda_2 > 0$ and δ_1 , δ_2 , B are real numbers. Throughout this paper, for complex numbers x and w with $x \neq 0$, $x^w = \exp(w \log x)$ and the principal branch is taken for the logarithm. Then these infinite products

converge absolutely and uniformly in every compact subset of the upper half-plane. Hence $f_1(z)$ and $f_2(z)$ are holomorphic in the upper half-plane.

Theorem. Let N be a positive number, and put $M=\lambda_1\lambda_2N$. Assume that $\varphi_1(s)$ and $\varphi_2(s)$ can be continued through the whole s-plane as non-zero meromorphic functions with a finite number of poles and that there exists a real number k such that

(3)
$$f_1(-1/Nz) = (\sqrt{N}z/i)^k f_2(z).$$

Then M is a positive integer, $f_1(z)$ and $f_2(z)$ can be expressed in the form

(4)
$$f_1(z) = \prod_{m \mid M} \eta(mz/\lambda_1)^{c(m)}$$

and

(5)
$$f_2(z) = \exp(B) \prod_{m|M} \eta(mz/\lambda_2)^{c(M/m)},$$

where c(m), defined for m dividing M, are complex numbers,

$$\delta_1 = \frac{1}{24\lambda_1} \sum_{m \mid M} mc(m),$$

(7)
$$\delta_2 = \frac{1}{24\lambda_2} \sum_{m \in M} mc(M/m),$$

(8)
$$k = \frac{1}{2} \sum_{m|M} c(m),$$

and

(9)
$$B = \frac{1}{2} (\log \lambda_1 \sqrt{N}) \sum_{m \mid M} c(m) - \frac{1}{2} \sum_{m \mid M} c(m) \log m.$$

Conversely, let M be a positive integer and let c(m), for integers m dividing M, be arbitrary complex numbers such that four numbers

$$\sum_{m|M} c(m)$$
, $\sum_{m|M} mc(m)$, $\sum_{m|M} mc(M/m)$, and $\sum_{m|M} c(m)\log m$

are real numbers. Further, define $f_1(z)$, $f_2(z)$, k and B by (4), (5), (8) and (9), respectively. Then $f_1(z)$ and $f_2(z)$ satisfy the functional equation (3).

From the theorem, we can easily obtain the following corollaries.

COROLLARY 1. Under the same assumptions as in the theorem, if we take $\lambda_1 = \lambda_2 = N = 1$ and $\delta_1 = 1/24$, then $f_1(z) = f_2(z) = \eta(z)$.

This is a characterization of $\eta(z)$.

COROLLARY 2. Under the same assumptions as in the theorem, if we take $\lambda_1 = \lambda_2 = \lambda$, $M = \lambda^2 N$ and $a_1(n) = a_2(n)$ for all n, then M is a positive integer and

(10)
$$f_1(z) = f_2(z) = \prod_{m \mid M} \eta(mz/\lambda)^{c(m)},$$

where c(m), defined for m dividing M, are complex numbers such that c(m) = c(M/m) for any divisor m of M,

(11)
$$\delta_1 = \delta_2 = \frac{1}{24\lambda} \sum_{m|M} mc(m)$$

and

$$k = \frac{1}{2} \sum_{m \mid M} c(m).$$

Conversely, let M be a positive integer and let c(m), for m dividing M, be arbitrary complex numbers such that c(m) = c(M/m) for any divisor m of M and that two numbers

$$\sum_{m|M} c(m) \quad and \quad \sum_{m|M} mc(m)$$

are real numbers. Further, define f(z) and k by the right-hand side of (10) and (12), respectively. Then f(z) satisfies the functional equation

$$f(-1/Nz) = (\sqrt{N}z/i)^k f(z).$$

Now we consider the case when $\lambda_1 = \lambda_2 = \lambda$, $\delta_1 = \delta_2 = \delta$, $M = \lambda^2$,

$$\varphi_1(s) = \varphi_2(s) = \varphi(s) = \sum_{n=1}^{\infty} a(n)n^{-s}$$

and

$$f(z) = \exp(2\pi i \delta z) \prod_{n=1}^{\infty} (1 - q(\lambda)^n)^{a(n)}.$$

Taking N = 1 in Corollary 2, we have the following

COROLLARY 3. Assume that $\varphi(s)$ can be continued through the whole s-plane as a non-zero meromorphic function with a finite number of poles and that there exists a real number k such that

(13)
$$f(-1/z) = (z/i)^k f(z).$$

Then λ^2 is a positive integer and f(z) can be expressed in the form

(14)
$$f(z) = \prod_{m \mid \lambda^2} \eta(mz/\lambda)^{c(m)},$$

where c(m), defined for m dividing λ^2 , are complex numbers such that $c(m) = c(\lambda^2/m)$ for any divisor m of λ^2 ,

$$\delta = \frac{1}{24\lambda} \sum_{m \mid 1/2} mc(m)$$

and

$$(16) k = \frac{1}{2} \sum_{m \mid \lambda^2} c(m).$$

Conversely, let λ^2 be a positive integer and let c(m), for m dividing λ^2 , be arbitrary complex numbers such that $c(m) = c(\lambda^2/m)$ for any divisor m of λ^2 and that two numbers

$$\sum_{m|\lambda^2} c(m) \quad and \quad \sum_{m|\lambda^2} mc(m)$$

are real numbers. Further, define f(z) and k by (14) and (16), respectively. Then f(z) satisfies the functional equation (13).

As is easily seen, this is equivalent to the theorem given in [4], since

$$\prod_{m|\lambda^2} \eta(mz/\lambda)^{c(m)} = \exp(2\pi i \delta z) \prod_{m|\lambda^2} \prod_{n=1}^{\infty} (1 - q(\lambda)^{mn})^{c(m)},$$

where δ is defined by (15). It was not until quite recently that the author found the above equality.

Remark 1. In the theorem and its corollaries, $a_1(1)$, $a_1(2)$, $a_1(3)$, ... and $a_2(1)$, $a_2(2)$, $a_2(3)$, ... are sequences of rational integers, if, and only if, the numbers c(m) (m|M) are rational integers.

Remark 2. The theta function

$$\vartheta(z) = \prod_{n=1}^{\infty} (1 - q(2)^{2n}) (1 + q(2)^{2n-1})^2$$

is a modular form of weight 1/2 and satisfies

$$\vartheta(-1/z) = \sqrt{z/i}\,\vartheta(z).$$

Then from Corollary 3 we see that

$$\vartheta(z) = \frac{\eta(z)^5}{\eta(z/2)^2 \eta(2z)^2}.$$

2. Some lemmas. We shall use the same notation as in the previous section. For y > 0, we set

$$G_1(y) = -\{\log f_1(iy/\sqrt{N}) + (2\pi\delta_1 y/\sqrt{N})\}$$

and

$$G_2(y) = -\{\log f_2(iy/\sqrt{N}) + (2\pi\delta_2 y/\sqrt{N}) - B\}.$$

Then from (1) and (2), we have

(17)
$$G_{j}(y) = \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_{j}(n)}{m} \exp(-2nm\pi y/\lambda_{j}\sqrt{N}) \quad (j=1, 2).$$

LEMMA 1. If $y \ge 1$, then

$$G_j(y) \ll \exp(-\pi y/\lambda_j \sqrt{N})$$
 $(j = 1, 2).$

Proof. By the assumption, $a_j(n) = O(n^c)$, and the inequality $2nm \ge n + m$, we have

$$G_{j}(y) \ll \sum_{n=1}^{\infty} n^{c} \exp(-n\pi y/\lambda_{j}\sqrt{N}) \sum_{m=1}^{\infty} \frac{1}{m} \exp(-m\pi y/\lambda_{j}\sqrt{N})$$

$$\ll \sum_{m=1}^{\infty} \exp(-m\pi y/\lambda_{j}\sqrt{N}) \ll \exp(-\pi y/\lambda_{j}\sqrt{N}) \quad (j=1, 2).$$

as required.

Next, let

$$\xi_j(s) = (2\pi/\lambda_j \sqrt{N})^{-s} \Gamma(s) \zeta(s+1) \varphi_j(s) \qquad (j=1, 2),$$

where, as usual, $\Gamma(s)$ and $\zeta(s)$ denote the gamma function and the Riemann zeta function, respectively.

LEMMA 2. Let N > 0 and k be a real number. Then the following two conditions are equivalent:

(A)
$$f_1(-1/Nz) = (\sqrt{N}z/i)^k f_2(z)$$
.

(B) $\xi_1(s)$ and $\xi_2(s)$ can be continued through the whole s-plane as meromorphic functions satisfying $\xi_1(s) = \xi_2(-s)$, and

$$\xi_1(s) + \frac{k}{s^2} + \frac{B}{s} + \frac{2\pi\delta_1}{\sqrt{N}} \frac{1}{1+s} + \frac{2\pi\delta_2}{\sqrt{N}} \frac{1}{1-s}$$

is entire and bounded in every vertical strip.

Proof. It follows easily from (17) and Mellin's inversion formula that

(18)
$$G_1(y) = \frac{1}{2\pi i} \int_{\text{Re}(s) = \sigma} \xi_1(s) y^{-s} ds$$

and

(19)
$$G_2(y) = \frac{1}{2\pi i} \int_{\mathbb{R}_{\sigma(s)} = \sigma} \xi_2(s) y^{-s} ds,$$

where σ is chosen large enough to be in the intersection of two domains of absolute convergence of $\varphi_1(s)$ and $\varphi_2(s)$. Assume now (B). Then shifting the line of integration in (18) to $\text{Re}(s) = -\sigma$, we have

$$G_1(y) = \frac{1}{2\pi i} \int_{\text{Re}(s) = -\sigma} \xi_1(s) y^{-s} ds + \{\text{sum of residues of } \}$$

integrand at s = 1, 0, -1.

By (19) and the functional equation $\xi_1(s) = \xi_2(-s)$, we see that

$$G_2(1/y) = \frac{1}{2\pi i} \int_{\text{Re}(s)=-\sigma} \xi_1(s) y^{-s} ds.$$

The residues in the sum are as follows:

$$\operatorname{Res}_{s=1} \xi_1(s) y^{-s} = \frac{2\pi \delta_2}{\sqrt{N} y},$$

$$\operatorname{Res}_{s=0} \xi_1(s) y^{-s} = k \log y - B,$$

Res_{s=-1}
$$\xi_1(s)y^{-s} = -\frac{2\pi\delta_1 y}{\sqrt{N}}$$
.

Thus we have

$$G_1(y) = G_2(1/y) + \frac{2\pi\delta_2}{\sqrt{N}y} + k\log y - B - \frac{2\pi\delta_1 y}{\sqrt{N}},$$

which yields

$$\log f_1(iy/\sqrt{N}) = -k\log y + \log f_2(i/\sqrt{N}y).$$

Therefore

$$f_1(iy/\sqrt{N}) = y^{-k}f_2(i/\sqrt{N}y).$$

Substituting $1/\sqrt{N}y$ for y in the above equality, we obtain

$$f_1(i/Ny) = (\sqrt{N}y)^k f_2(iy),$$

which is (A).

Hereafter, Re(s) is taken so large to ensure the validity of the later argument. Noticing that

$$\Gamma(s) = \int_{0}^{\infty} e^{-t} t^{s} d^{\times} t$$
 where $d^{\times} t = \frac{dt}{t}$,

we can deduce from (17) that

$$\xi_1(s) = \int_0^\infty G_1(y) y^s d^{\times} y.$$

Then it is easy to see that

(20)
$$\xi_1(s) = \int_{1}^{\infty} G_1(y) y^s d^{\times} y + \int_{1}^{\infty} G_1(1/y) y^{-s} d^{\times} y.$$

Assuming now (A),

$$\log f_1(i/\sqrt{N}y) = k\log y + \log f_2(iy/\sqrt{N}),$$

so that

$$G_1(1/y) = G_2(y) + \frac{2\pi\delta_2 y}{\sqrt{N}} - \frac{2\pi\delta_1}{\sqrt{N}y} - k\log y - B.$$

Hence, from (20) we have

(21)
$$\xi_{1}(s) + \frac{k}{s^{2}} + \frac{B}{s} + \frac{2\pi\delta_{1}}{\sqrt{N}} \frac{1}{1+s} + \frac{2\pi\delta_{2}}{\sqrt{N}} \frac{1}{1-s} = \int_{1}^{\infty} G_{1}(y)y^{s}d^{\times}y + \int_{1}^{\infty} G_{2}(y)y^{-s}d^{\times}y.$$

Lemma 1 shows that the above integrals converge absolutely and uniformly in every vertical strip in the s-plane and therefore define entire functions of s, so that (21) gives us an analytic continuation of $\xi_1(s)$ into the whole s-plane as a meromorphic function. By the same way as above, we know that

$$\xi_2(-s) + \frac{k}{s^2} + \frac{B}{s} + \frac{2\pi\delta_1}{\sqrt{N}} \frac{1}{1+s} + \frac{2\pi\delta_2}{\sqrt{N}} \frac{1}{1-s} = \int_1^{\infty} G_1(y) y^s d^{\times} y + \int_1^{\infty} G_2(y) y^{-s} d^{\times} y.$$

holds in the whole s-plane. From this and (21), we have the functional equation $\xi_1(s) = \xi_2(-s)$.

This completes the proof of the lemma.

LEMMA 3. Let N > 0 and k be a real number. Then (3) holds, if, and only if, $\varphi_1(s)$ and $\varphi_2(s)$ satisfy the following four conditions:

- (a) $\varphi_1(s)$ and $\varphi_2(s)$ can be continued through the whole s-plane as meromorphic functions.
 - (b) $s(s-1)\varphi_1(s)\zeta(s+1)$ and $s(s-1)\varphi_2(s)\zeta(s+1)$ are entire of finite order.
 - (c) $M^s \varphi_1(s) \zeta(-s) = \varphi_2(s) \zeta(s)$.

(d)
$$\varphi_1(0) = -k$$
, $\varphi_1(-1) = -2\lambda_1 \delta_1$, $B = -\varphi_1'(0) - k\log(2\pi/\lambda_1 \sqrt{N})$ and $\underset{s=1}{\text{Res }} \varphi_1(s) = 24\delta_2/\lambda_1 N$.

Proof. The method of the proof is almost the same as that of Theorem 2 in [3]. By Lemma 2, we have only to prove that (B) is equivalent to the above four conditions. By noticing that

$$2\Gamma(s)\zeta(s)\cos(\pi s/2) = (2\pi)^s\zeta(1-s),$$

we find that $\xi_1(s) = \xi_2(-s)$ is equivalent to (c). In the following, σ is taken large enough to be in the intersection of two domains of absolute convergence of $\varphi_1(s)$ and $\varphi_2(s)$, and, for brevity, we put

$$E(s) = \xi_1(s) + \frac{k}{s^2} + \frac{B}{s} + \frac{2\pi\delta_1}{\sqrt{N}} \frac{1}{1+s} + \frac{2\pi\delta_2}{\sqrt{N}} \frac{1}{1-s}.$$

Assume now (B). Then (a) and (d) are clear. Further it is easy to see that $s(s-1)\varphi_1(s)\zeta(s+1)$ is entire in the whole s-plane. Since $\varphi_1(s)\zeta(s+1)$ and $\varphi_2(s)\zeta(s+1)$ are bounded in $\text{Re}(s) \geqslant \sigma$, by Stirling's formula and $\xi_1(s) = \xi_2(-s)$, we know that $\xi_1(s)$ is entire of order 1 there and also in $\text{Re}(s) \leqslant -\sigma$, as is $\varphi_1(s)\zeta(s+1)$, because $\varphi_1(s)\zeta(s+1) = (2\pi/\lambda_1\sqrt{N})^s\xi_1(s)/\Gamma(s)$ and $1/\Gamma(s)$ is

an entire function of order 1. Similarly, we can deduce that $s(s-1)\varphi_1(s)\zeta(s+1)$ has order 1 in the strip $-\sigma \leq \text{Re}(s) \leq \sigma$, since E(s) is entire and bounded in every vertical strip. Thus $s(s-1)\varphi_1(s)\zeta(s+1)$ is entire of order 1. Since $\xi_1(s) = \xi_2(-s)$, we see that $s(s-1)\varphi_2(s)\zeta(s+1)$ is entire of order 1 by using the same way as above.

Conversely, let us suppose that the conditions (a), (b), (c) and (d) are fulfilled. Then we find that E(s) can be continued through the whole s-plane as an entire function of finite order. Taking $v \ge \sigma$, then E(s) = O(1) on the line Re(s) = v and also on the line Re(s) = -v by Stirling's formula and $\xi_1(s) = \xi_2(-s)$. Hence, E(s) = O(1) in the strip $-v \le \text{Re}(s) \le v$ by the Phragmen-Lindelöf theorem, which proves (B).

3. On certain Dirichlet series.

LEMMA 4. Let D(s) be a convergent Dirichlet series defined by

$$D(s) = \sum_{n=1}^{\infty} c(n)n^{-s}.$$

Assume that D(s) can be continued through the whole s-plane as a meromorphic function of finite order with a finite number of poles and that there exists a positive number K such that $D(-s) = O(|K^s|)$ for Re(s) sufficiently large. Then, if K < 1, D(s) = 0 and if $K \ge 1$,

$$D(s) = \sum_{n=1}^{[K]} c(n) n^{-s}.$$

where [K] denotes the integral part of K.

Proof. See Lemma 5 in [3].

LEMMA 5. Let $D_1(s)$ and $D_2(s)$ be two convergent Dirichlet series. Assume that they can be continued through the whole s-plane as non-zero meromorphic functions of finite order, which have a finite number of poles and which satisfy $d^sD_1(s) = D_2(-s)$ for some positive number d. Then d is a positive integer,

$$D_1(s) = \sum_{n|d} c(n)n^{-s}$$
 and $D_2(s) = \sum_{n|d} c(d/n)n^{-s}$,

where c(n), defined for n dividing d, are complex numbers.

Proof. Put

$$D_1(s) = \sum_{n=1}^{\infty} c(n)n^{-s}$$
 and $D_2(s) = \sum_{n=1}^{\infty} b(n)n^{-s}$.

By our assumptions, we see that

$$D_2(-s) = O(|d^s|)$$

for Re(s) sufficiently large. Then it follows from Lemma 4 that $d \ge 1$ and

$$D_2(s) = \sum_{n=1}^{[d]} b(n)n^{-s}.$$

Since $d^s D_1(s) = D_2(-s)$, we have

(22)
$$\sum_{n=1}^{\infty} c(n)(d/n)^{s} = \sum_{n=1}^{[d]} b(n)n^{s}.$$

Let p denote the first value of the index n such that $c(n) \neq 0$ and let q denote the last value of the index n such that $b(n) \neq 0$. Then from (22) we find that $c(p)(d/p)^s = b(q)q^s$, which implies c(p) = b(q) and pq = d. Thus d is an integer. Repeating the same argument as above, we can prove the lemma.

4. Proof of the theorem. We shall prove the first assertion. By our assumptions, $\varphi_1(s)$ and $\varphi_2(s)$ satisfy the four conditions of Lemma 3. Hence, if we put $D_1(s) = \varphi_1(s)/\zeta(s)$ and $D_2(s) = \varphi_2(s)/\zeta(s)$, then $D_1(s)$ and $D_2(s)$ can be continued through the whole s-plane as non-zero meromorphic functions of finite order, and $M^sD_1(s) = D_2(-s)$. Further we know that $D_1(s)$ and $D_2(s)$ have a finite number of poles in the whole s-plane by (b), (c) and the assumptions of $\varphi_1(s)$ and $\varphi_2(s)$. Then, from Lemma 4 we see that M is a positive integer and

$$D_1(s) = \sum_{m|M} c(m)m^{-s}$$
 and $D_2(s) = \sum_{m|M} c(M/m)m^{-s}$,

where c(m), defined for m dividing M, are complex numbers. Hence we have

(23)
$$\varphi_1(s) = \left(\sum_{m \mid M} c(m)m^{-s}\right)\zeta(s)$$

and

(24)
$$\varphi_2(s) = \left(\sum_{m \mid M} c(M/m)m^{-s}\right)\zeta(s).$$

By noting that $\zeta(0) = -1/2$, $\zeta(-1) = -1/12$ and $\zeta'(0) = -(\log 2\pi)/2$, from (d) and (23) we can easily obtain (6), (7), (8) and (9). Moreover, from (1), (2), (23) and (24), we find that

$$f_1(z) = \exp(2\pi i \delta_1 z) \prod_{m|M} \prod_{n=1}^{\infty} (1 - q(\lambda_1)^{mn})^{c(m)}$$

and

$$f_2(z) = \exp(2\pi i \delta_2 z + B) \prod_{\substack{m \mid M \ n=1}}^{\infty} \left(1 - q(\lambda_2)^{mn}\right)^{c(M/m)},$$

which yield (4) and (5).

The remaining part of the theorem follows at once from Lemma 3, since $\varphi_1(s)$ and $\varphi_2(s)$ are given by (23) and (24), respectively.

5. Proofs of corollaries. Corollary 1 is a direct consequence of the theorem. Now we shall prove Corollary 2. From the theorem and its proof, we know that M is a positive integer, $\varphi_1(s)$ and $\varphi_2(s)$ are given by (23) and (24), respectively. If $a_1(n) = a_2(n)$ for all n, then $\varphi_1(s) = \varphi_2(s)$, so that c(m) = c(M/m) for any divisor m of M. Since $M = \lambda^2 N$, from (9) we have

$$2B = \frac{1}{2}(\log M) \sum_{m|M} c(m) - \sum_{m|M} c(m) \log m$$

$$= \frac{1}{2}(\log M) \sum_{m|M} c(m) - \sum_{m|M} c(M/m) \log m$$

$$= \frac{1}{2}(\log M) \sum_{m|M} c(m) - \sum_{m|M} c(m) \log (M/m) = -2B,$$

which implies B = 0. Thus Corollary 2 follows easily from the theorem. Corollary 3 is an immediate consequence of Corollary 2.

6. Proofs of remarks. By (23), (24) and Möbius' inversion formula, we can easily show Remark 1. Now we shall prove Remark 2. As is easily verified, $\vartheta(z)$ may be written as

$$\vartheta(z) = \prod_{n=1}^{\infty} \frac{(1-q(2)^{2n})^5}{(1-q(2)^n)^2 (1-q(2)^{4n})^2}.$$

Hence we have

$$\vartheta(z) = \prod_{n=1}^{\infty} (1 - q(2)^n)^{a(n)},$$

where

$$a(n) = \begin{cases} 1 & \text{if } n \equiv 0 \pmod{4}, \\ 3 & \text{if } n \equiv 2 \pmod{4}, \\ -2 & \text{otherwise.} \end{cases}$$

It is easy to see that

$$\varphi(s) = \sum_{n=1}^{\infty} a(n)n^{-s} = (-2 + 5 \cdot 2^{-s} - 2 \cdot 4^{-s})\zeta(s).$$

Since, by (23),

$$\varphi(s) = (c(1) + c(2)2^{-s} + c(4)4^{-s})\zeta(s),$$

we find that c(1) = c(4) = -2 and c(2) = 5. Then, by the theorem, the remark is proven.

References

- [1] E. Hecke, Über die Bestimmung Dirichletscher Reihen durch ihre Funktionalgleichung, Math. Ann. 112 (1936), 664-699.
- [2] C. L. Siegel, A simple proof of $\eta\left(\frac{-1}{\tau}\right) = \eta(\tau)\sqrt{\frac{\tau}{i}}$, Gesammelte Abhandlungen, vol. III, p. 188, Springer Verlag, Berlin, Heidelberg, New York 1966.
- [3] M. Toyoizumi, On certain infinite products, Mathematika 30 (1983), 4-10.
- [4] On certain infinite products II, ibid. 31 (1984), 1-11.
- [5] A. Weil, Sur une formule classique, J. Math. Soc. Japan 20 (1968), 400-402.
- [6] Über die Bestimmung Dirichletscher Reihen durch Funktionalgleichungen, Oeuvres Scientifiques Collected Papers, vol. III, p. 165-172, Springer Verlag, New York, Heidelberg, Berlin, Second printing 1980.

DEPARTMENT OF MATHEMATICS TOYO UNIVERSITY Kawagoe-Shi, Saitama 350 Japan

Received on 3.4.1986

and in revised form on 9.6.1987 (1617)